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#a%k] 46, 190|[ 109, 439] 53,561 55,878 gl -17 -5 66 71 -12]  489] 501 0 148 148
HF—TH 677 1,441 702 739 4 1 1 1 0 -1 5 6 1 1 0
S TH 554 1,333 673 660 -1 -1 0 1 1 -3 1 4 2 4 2
FLIL=TH 449[ 1,039 502 537 0 -3 0 1 1 -3 2 5 0 1 1
SLil&Er| 1,680 3,813] 1,877 1,936 3 -3 1 3 2 -7 8 15 3 6 3
B —TH 482l 1,008 481 527 0 -3 0 0 0 -3 1 4 0 1 1
Sern_TH 760( 1,844 891 953 8 11 0 0 0 7 9 2 4 6 2
Sy an—TH 519 1,267 617 650 0 1 1 1 0 -1 2 3 1 2 1
LN 368 914 443 471 0 1 1 1 0 0 2 2 0 1 1
ey nt ] H 558( 1,264 618 646 2 5 0 1 1 -1 0 1 6 6 0
AT 221 492 232 260 -2 -2 0 0 0 -1 0 1 -1 0 1
SerantTH 635[ 1,648 820 828 0 -2 1 1 0 0 2 2 -3 1 4
g a/NT H 395 924 456 468 1 1 0 2 9 7 3 6 3
o BILT B 598| 1,459 728 731 0 1 1 6 7 1 -1 0 1
S A gkl 4,536| 10,8200 5,286| 5,534 13 22 4 6 2 9 32 23 9 23 14
ks —TH 333 811 411 400 1 7 2 2 0 0 2 2 5 5 0
Wk a_TH 934f 2,051 1,003| 1,048 -2 0 1 1 0 -3 7 10 2 4 2
Wk a=TH 663[| 1,448 698 750 5 0 1 1 0 4 4 -5 1 6
W aaErl 1,930 4,310 2,112 2 198 4 7 4 4 0 1 17 16 2 10 8
s Aa—TH 566| 1,260 619 641 -1 -4 0 0 0 -4 1 5 0 0 0
A _TH 387 944 495 449 2 9 0 1 1 6 8 2 3 4 1
s A=TH 234 537 262 275 -2 -3 0 0 0 -1 3 4 -2 0 2
s AT B 542| 1,331 681 650 3 -1 0 1 3 6 3 1 2 1
msEr SAE 1,729 4,072 2,057| 2,015 5 -1 1 2 4 18 14 2 6 4
THE0 356 984 430 554 1 0 0 0 0 5 5 1 1 0
HEEIn—TH 153 381 181 200 0 -2 0 0 0 1 1 0 -3 0 3
EEd T H 413 996 475 521 -3 -7 -3 0 3 -1 2 3 -3 0 3
HEEI=TH 662/ 1,704 815 889 5 7 2 3 1 4 6 2 1 2 1
HOEEA T A 710 1,794 876 918 1 -4 -2 1 3 0 5 5 -2 0 2
L gUENE 406 970 486 484 2 6 1 1 0 1 2 1 4 4 0
EEHI ST H 393 953 465 488 -3 0 0 0 0 2 2 -3 0 3
HERIETH 651 1,471 711 760 19 11 0 0 0 15 24 9 -4 2 6
HOEDAEE 3,388 8,269] 4,009] 4,260 24 8 -2 5 7 20 42 22 -10 8 18
FOEEH| 1,472 2,991 1,398 1,593 -2 -6 -1 3 4 -5 8 13 0 0 0
FEIAR 327 695 350 345 0 -2 -1 0 1 -1 1 2 0 0 0
GBS T 445 965 468 497 3 7 -1 1 2 2 3 1 6 8 2
GEERARR T H 240 505 257 248 2 0 0 0 -1 3 4 1 2 1
GEERAR =T H 4871 1,134 571 563 -1 -1 0 1 -2 5 7 4 5 1
B Pl T 581 1,244 581 663 -4 1 2 3 1 -2 8 10 1 1 0
GEERAR T T H 197 513 249 264 -1 -1 0 0 0 0 1 1 -1 0 1
EERAh A 1,950 4,361 2,126 2,235 -1 8 0 4 4 -3 20 23 11 16 5
BRI T 659 1,405 673 732 1 3 -2 0 2 5 3 0 0 0
GEERAANT T H 654f 1,338 640 698 7 3 -2 0 2 8 1 -3 1 4
EEROARTASE| 1,313 2,743 1,313 1,430 8 6 -4 0 4 13 17 4 -3 1 4
IR 314 881 496 385 0 -2 0 0 0 -1 3 -1 0 1
HHPR—-TH 694/ 1,687 840 847 0 0 1 2 1 -4 11 3 3 0
WHR =T A| 1,527 3,674] 1,811| 1,863 13 3 -1 1 2 0 24 24 4 9 5
HAR=TH 809[ 2,171 1,067| 1,104 -5 =10 1 1 0 -3 6 -8 0 8
HHPRMNTH 488 1,206 581 625 2 1 1 0 -2 4 3 4 1
WPRAE 3,518| 8,738 4,299 4,439 -5 2 5 3 -9 36 45 2 16 14
AHR-TH 647 1,579 772 807 1 3 3 0 1 3 2 -3 1 4
JHR_TH 863 2,198| 1,084| 1,114 -2 -5 2 3 1 1 8 7 -8 1
AHR=TH 436 960 499 461 -2 -2 0 0 0 -2 0 2 0 2
JbdRAEH 1,946| 4,737 2,355 2,382 -3 -6 5 6 1 0 11 11 -11 4 15
H R 317 802 382 420 2 -2 0 2 4 4 0 0 1 1
Wi 1,584 4,955 2,268| 2,687 4 -1 2 3 2 10 8 3 3 0
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e T H 771 1,853 914 939 -3| -1 0 0 0 -5 4 9 -6 0 6
FwE _TH 702 1,874 957 917 4 2 -1 1 2 1 4 3 2 3 1
FHE=TH 615 1,559 777 782 -1 -2 -1 0 1 -1 3 4 0 0 0
FMEM T H 880 2,190 1,080| 1,110 7 17 0 1 1 10 12 2 7 8 1
FVERT H 584 1,413 691 722 2 9 0 1 1 2 5 7 9 2
FREANTH 409[| 1,037 196 541 0 -1 -2 0 2 0 0 1 2 1
mEAE 3,961 9,926 4,915 5,011 9 14 —4 3 7 7 30 23 11 22 11
L 4971 1,128 557 571 -2 -3 -3 0 3 0 2 2 0 2 2
e —T [ 325 697 343 354 2 5 1 2 1 1 1 0 3 3 0
=T H 588| 1,352 662 690 1 -1 1 2 0 2 2 0
A2 913 2,049 1,005| 1,044 6 0 3 3 1 5 5 0
El—TH 294, 665 341 324  -65]  -71 1 1 of -58 103 161  -14 0 14
= _TH 644[ 1,384 671 713 0 1 2 2 0 1 3 2 -2 1 3
EH=TH 400[ 1,024 519 505 1 3 -1 0 1 0 1 1 4 4 0
EhaE 1,338 3,073] 1,531 1,542l -64|  -67 2 3 1 -57 107 164  -12 5 17
HE-T 8 381 1,019 489 530 -2 -1 0 0 0 1 2 1 -2 0 2
WHE T H 424f 1,077 531 546 3 1 -1 0 1 2 3 1 0 0 0
s =TH 758|| 1,953 989 964 0 1 -3 1 4 3 3 0 1 1 0
HHENT A 452 1,048 498 550 1 0 -2 0 2 2 2 0 0 0 0
WHE T A 719 1,655 805 850 -1 -2 -1 0 1 1 2 1 -2 1 3
s AT 217 474 245 229 -3 -9 0 0 0 -6 0 6 -3 1 4
WEAE 2,951 7,226 3 557| 3,669 2| =10 -7 1 8 3 12 9 -6 3 9
<HEL—TH 612[ 1,449 710 739 0 0 0 0 0 1 4 3 -1 0 1
<MEIZTH 701l 1,538 762 776 -2 -3 2 2 0 -3 7 10 -2 0 2
<MEIN=TH 513 1,172 585 587 -2 -3 -5 0 5 1 7 6 1 1 0
<HENTH 505( 1,130 567 563 -1 -5 0 1 1 -6 4 10 1 1 0
e 356 784 438 346 -2 —4 0 0 0 —4 0 4 0 0 0
< AE 2,687 6,073 3,062| 3,011 -7| =15 -3 3 6| -11 22 33 -1 2 3
PEARIT—TH 782\ 1,712 856 856 -3 -1 0 2 2 3 10 7 -4 1 5
WIEARIT —TH 430[ 1,083 539 544 -1 —4 -1 0 1 -3 3 6 0 2 2
EANTESEH 1,212 27950 1,395 1,400 —4 -5 -1 2 3 0 13 13 —4 3 7
we 455 864 432 432 6 3 -2 0 2 6 10 4 -1 0 1
ka1 A 976l 1,631 729 902 3 2 2 2 0 1 12 11 -1 0 1
kAT H 393 676 314 362 -1 0 2 2 0 -3 7 1 1 0
ok n=TH 612l 1,684 789 895 0 3 3 3 0 1 3 -1 3 4
ke AT H 377 817 393 424 -2 1 1 1 0 -1 2 1 1 0
sk aaEr| 2,358 4,808] 2, 225 2 583 0 6 8 8 0 -2 21 23 0 5 5
SRR T 20 59 31 28 0 0 0 0 0 0 0 0 0 0
g 763 1,819 885 934 -2 -8 0 1 1 -5 8 -3 0 3
R 274 664 320 344 -1 -2 0 0 0 -1 1 -1 0 1
PR — T H 408[| 1,089 554 535 1 4 1 2 1 3 2 0 0 0
R =T H 373 890 440 450 3 15 -1 0 1 14 15 1 2 3 1
H R A B 781 1,979 994 985 4 19 0 2 2 17 20 3 2 3 1
PR — T 618[ 1,367 688 679 -2 -2 0 0 0 -2 2 4 0 0 0
PEEER T A 495( 1, 220 577 643 1 2 0 0 0 2 2 0 0 0 0
Pt A SR 1, 113|[ 2,587 1,265 1,322 -1 0 0 0 0 0 4 4 0 0 0
Ve R 286 664 334 330 6 7 1 1 0 3 6 3 3 3 0
[ SIR/N 221 554 295 259 -1 -1 0 0 0 0 3 3 -1 0 1




